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EXERCISE 4A-3
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EXERCISE 4A---4 [Tséi’*s Math Class

Addition (with regroup) /[l
7 7(—3 .’;-/0 8 —
g . + 5




Exercise 3B - 24

Getting Facts from a Table

Spelling Scores
Name First - Second Test
Ron 98 97
Bill 86 90
Laura 93 100
Joyce 88 82

Use the table to answer the questions below.

1.Who had the highest score on the first test?

2.Who had the highest score on the second test?
3.Who had the lowest score on the first test?

4.Who had the lowest score on the second test?

5. Who scored higher on the first test, Bill or Laura?
6.Who scored lower on the second test Ron or Joyce?
7.Who scored higher on the first test, Joyce or Bill?
8.Who scored lower on the second test Laura or Ron?
9.Who scored higher on the first test, Joyce or Laura?

10.Who scored lower on the second test Bill or Joyce?




EXERCISE 3H--2 Tsai s Math Copyright
(¢) the right amount of money: | / l

1. 1penny 1¢  5¢  10¢ |10. 3 quarters 25¢ 50¢ 75¢
2. 1 nickel 1§ 5¢ 10¢ |11. 3 nickels  75¢ 15¢ 30¢
¢ 5¢ 104 |12.3dimes  75¢ 15¢ 304
. 1q¢ 25¢ 104 |13.4 quarters 100§ 50¢ 204
olla 10&¢  25& 506 |14. 4 nickels 25 40& 20¢
50¢ 1 is. 4 dimes 30§ 40§ 20§
16. 7 pennies 70§  74& 35§
17. 5 nickels 504 258 20Q
18. 3 pennies 30§ 15§ 34§

10§
rs 10§

money show

1 nickel =
v 4. 1 quarter -
7.2 dimes = 3 nickels

10. 5 dimes = nickels

13. 7 dimes =




Exercise 2E -5
Problem Solving. (write the number sentence)

/]

1. 3 dogs are playing,
5 more dogs also play.
How many dogs in all?

9 drinking glasses
3 glass that were broken

How many glasses are left
unbroken?

2. 5 apples on Tim’s plate.
4 apples on Kim’s plate.

What is the total number
of apples?

Rita eats 5 strawberries
Juan eats 4 strawberries

How many strawberries do
they eat in all?

3. 9 grapes are in a bowl.
Birds eat 5 graphs.
How many graphs left?

10.

Mario sees 10 kites.
Meg sees 7 kites.

How many more kites did
Mario see more than Meg?

4. 6 cups on the table.
2 more cups are added
How many cup in all?

11.

4 cats sit in the sun.
3 cats join them.

How many cats are there
altogether?

5. 8 birds are in the tree.
4 birds that flew away
How many birds are left?

12.

6 chairs
2 chairs are broken

How many chairs are left
unbroken?

6. 4 birds are in the tree
4 birds on the ground.

What are the total
number birds?

13.

9 cats are playing
4 hiding under the blanket

How many cat still left to
play?

7. 7 beans on a plate

3 more beans are
added.

There are how beans in
all?

14.

Tommy see 8 red cars
and 5 blue cars

How many more red cars
than blue cars Tommy see?




LALNCULIOLE L1)=-=-=L7 Tsai s math copyright
(+)or (-) in order from left to right . | / /

J1.6-3+4-5+3+5-4-2 =

Vo3 + 24+ 4 -5+4+2-4+2+4 =

.9-44+5-84+46-5+3-4 =

4. 8-5+3+3-2 -3+4-6 =

59-6+5-4+3-7+3+2 =

6. 3 +3 +4-T7+4-2+4-3 =
7279-5+3-4+2+2+3-6 =

8. 8 -2+4-7+3-2+5-6 =

9. 7-2+3-4+5-3+2-3 =

0. 6 +2+2-4-34+2+2-4 =

1n.5-2+6-7+4-5+3+2 =

26-2+6-4-3+2+4-5 =

3.8-5+3-6+8-4+2+2

44 +2+4-7+3+4-6-3 =

5.9 -5+3-2-3+8-4+3 =
6.6 +4 -5+2-44+3+4-73 =



Exercise 3 D-3 Tsai s Math Copy Right

6 9 7 8 47 /1
.34  -24 - 23

58-14=



